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1. Do you want to have a part-time job while you are in Korea? 0. Have you ever wanted to have a part-time job in Korea but couldn't?
o5t 1071 And what was that reason?(You can choose 1 or more)
) S8 1971
@ Yes(Please go to 1-1)
15 (78.9%)

@ No(Please go to 1-2) Language discomfort.

Because of the law(legal 8 (42.1%)

restrictions)

Not many companies hire 11 (57.9%)

foreigners.

never wanted a part-time job in

0,
Korea 143.3%)
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Maila

9,428 Lessons

Wendy

8,349 Lessons

Carmie Anne

9,367 Lessons

Cherie

8,204 Lessons

Laila

9,349 Lessons

%

Elia Rose

8,196 Lessons

Fretzie

9,289 Lessons

Jemaima

8,189 Lessons

Jerwin

5,286 Lessons

Milan

5,650 Lessons

Bob

5,672 Lessons

Mikyy

2,003 Lessons
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2. Have you ever done a service to teach a language over the phone?

0o

(=

: 1

87

@ Yes(Please go to 2-1)
@ No(Please go to 2-2)

GIENEX] O] AH|A

0212 WLOID} H

2-2(no) What is the reason?(eg. | don't feel the need to do it, | don't need to

make money..)

ojo
uf

e

L

1774

| haven't found a reliable platform to teach languages through my phone.

Didn't have the opportunity

| never got the opportunity. But | would like it !
Never thought about that

| don't feel need to do it

1 dont know this thing exists

Didn't know it was possible

No chance

i haven't think about it

I didn't know about this

1 don't feel comfortable with this kind of service

Didn't know that this was possible
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3. We are preparing a service where foreign students can communicate 3-2(no) What is the reason?(You can choose 1 or more)
with Koreans through phone calls or messages and teach languages I
(your language).(Scenarios will be provided and we will make sure that SR
foreign students do not feel burdened. ) Are you interested in becoming
a teacher and using the service? USRS ma"fﬂg‘:g; 2 (40%)
ERTR | don't have enough time. 1(20%)
@ Yes(Please go 0 3-1) Out of confidence to do well 2 (40%)
i hoglease goito o) I feel uncomfortable 2 (40%)

communicating with. ..

| am leaving in one month 1 (20%)
FU=E2 2 2Y6iA offiine is
1 (20%
best (20%)
0 1 2
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4. If you become a teacher, is it OK to be compensated for the minimum
wage based on Korean standards?(8350won per hour)

= 1871

0jo

® ves
@® No

22

4-1. If you choose No for question 4, please let us know the reason.

SE 4

Language School hire teachers and pay them up to 15 000 a hour most of the time. The minimum wage might not
attract so much foreigners who will have to give a lot of time to this activities, except if the government is agreed

for us to teach through this kind of platform as a foreign student. Indeed, as students we don't have the rights (
law's rule) to teach in Korea.

Its very little compared to European standards | think... When you are 13 and babysitting, you are probably payed
more in Europe. | wouldnt mind that much if i need money though

There would not be much left after taxes.
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5. Do you expect to make Korean friends through this service?
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@® No
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Would you like to be Toko?



